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�! #$ %# &'� () )# &*� (+ ,# - ,% %. /0

�� ��������

����������� ���������� � ����������� ����!����!��� !����� ����� ����!����!���" �!�!��!�#
�� !��$%&! ����������� ����!�" �$�$'���� �%��)�"� � ���!���!�� δ#�%��)�� ������� *�� +!��
!���� ���������� �������!�� � $��,-���!�� ��$�! � ������������ ��������� ���!�� �!���!� �
���!��!�!�%&'� �� ��������!�� ���!��� �!� ���!� ���%-��!� ��#���"��" ����� ���-�� ������#
��!��" � ��������!��"  ����!�� ��������� ���������" � �����! � .����!%& /����.����� �
.��%!������� 0� ��������� ������  ���!, �� ���� 1 ���!�!���� �.�!, ����!������ �&$�" %��$���
�� +���!���������� � ���!� �� �2����� ��-���" %�������" 3�������� ��� .���2���� ���!�)�
3�2�% !��� +!� ���������� ��2�� .����!��,�� %����!�!,� �����!, � ��/������� � ����!�����
����� !�� ��.������� ��������!��� �%��)�� ��!�������� 4.��2���� ����� +���!���������� �
����',& +!� �%��)�" �����2�!��� ��������� � �%��� 5�!��� 6�℄�

�� ��������� ��������  �!"�#

����-�� �������� ���!��-���� �����������" � 8�/���2��� ����%������� %�������" ���#
2���� ����!����!���" ���!�)�� ���&'�" ��������"� q� � ���!����"� e� .����� 6
��℄�

��
� ����
 �������
���

������������ %�������� ���2���� ����!����!���" ���!�)� � ��.���� ����!����!�� Γ ���&! ���9

dxi

ds
=

∂H

∂Pi

;
dPi

ds
= −∂H

∂xi
, :	��;

/�� H(x, P ) # ����!����!��� ��������!��� �%��)�� �����,!���� ui = dxi/ds 1 ���!�� ������!�
���!�)��

������!��� ��!������!������!� ����������� %�������" ���2���� :	��; � �����!������!�
��.���/� �$=��� ��������!�� ��������)���,��� ���!��-���� 6>℄� � �����������" �������� �.#
���!��� ��� ������� ��	
����

dΓ

ds
= 0, :	�	;

��/����� ��!����% ��.���" �$=�� ������" !�%$�� ���!�) ���!������ *����� ����.������ �!
�%��)�� ����������� ��������� Ψ(xi, Pk) ����2��!�� � ����',& ���$�� *%������9

dΨ

ds
= [H,Ψ] ≡ ∂H

∂Pi

∂Ψ

∂xi
− ∂H

∂xi

∂Ψ

∂Pi

. :	��;

�������� ��	�
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�
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�	����
 ��
�� �����	 ��	����	 � ������� ���
	��
	 ���	
�	������ �����
�����

��	��� �� �	
�	�� ��℄! ∇̃i! ����� ��� �"℄#

∇̃i = ∇i + Γk
ijPk

∂

∂Pj

, $%&�'

��� ∇i ( ���
	��
 ���	
�	������ �����
����
��	��� �� ��**�! 	 Γk
ij ( �����+, �
�������+�

%��� 
��	 ��������+��� ���
��� gij �	-, X & .��
	��
 ∇̃ ��
���+�� �	��� ��
	-��! *��

∇̃iPk ≡ 0 $%&/'

� �,��+������ �+������� ����������	�� �
	��+� �����
����
��	��� ������
#

∇̃iΨ(x, P ) = ∇i[Ψ(x], P ), $%&"'

����
�� �-�	*	��! *�� �+� �,*��+���� �
��-�����
 �	
�	�	 �� ������� Ψ(x, P ) ����	��*�� �,�
*��+��� �� ��� ��,*��� ���	
�	����� �
��-������ �	�! �	� ��+� �, �����
 ����+��	 �,+ ���	�

�	���� ��������,�& 0	��� ��
	-��! � ���� ���	
�	����� ���� �����	 ��	����	 ����#

[H,Ψ] ≡ ∂H

∂Pi

∇̃iΨ− ∂Ψ

∂Pi

∇̃iH, $%&�'

��+������� $%&1' ������� �	��+����	 ��+����� �����
	+�� ���3���� *	����,#

dH

ds
= [H,H ] = 0,⇒ H = Const . $%&4'

5�����6���� $%&4' ��3�� �	-�	�� ������6����� ��
��
����&

���� �������	
��	 �
���	��� ����	��� 
����
�� � �	���
�� ��
��	���� ��
����

7������ �	��+����	 �+� ��	+�
�� � �����
�� -	
�3����
 *	����, � ������6���� ��
��
����
$%&4' �+� ����������� ����+��	 ����� ���#

H(x, P ) =
1

2

[
gik(Pi − eAi, Pk − eAk)

m∗

−m∗

]
= 0, $%&�'

⇒ (P − eA, P − eA) = m2
∗
, $%&89'

��� Ai ( �����
�,
 �������	+! m∗(Φ) ( :��������	� �	��	 *	����,& 0	��� ��
	-��! ��+�������
�	����*����; �
	�����
 $%&8' ��+�*�� �+� �����
	 �����
����#

ui ≡ dxi

ds
=

P i − eAi

m∗

, $%&88'

*�� ��-��+��� ������ 	�
��������	�
 �������#

pi = m∗u
i ≡ P i − eAi. $%&8%'

0���	 ��+������� $%&89' �,��+������ ��	��	
��,� ������6���� ��
��
���� :��; ��+�*��#

(u, u) = 1; $%&81'

(p, p) = m2
∗
. $%&8�'

.������ ��+�-�,� � �	+���
6�� ��3�����	! ��
	���+��,� �+� ������� �	��+����	 $%&�'#

∇̃iH = −∇im∗ −
e

m∗

pkAk,i, $%&8/'

[H,Ψ] =
1

m∗

pi∇̃iΨ+
(
∂im∗ +

e

m∗

pkAk,i

) ∂Ψ
∂Pi

, $%&8"'

��� Ψ(x, P ) ���� �
��-��+��	� �������& � *	�������#

[H,P i] = ∇im∗ +
e

m∗

pk∇iAk. $%&8�'
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	��� ������
����	

�� ����	
 � ��	�	
 
����� ���	�������� ��������
 ����� �	�������� ��������� �������� �
 �
������	
 �	�"����	��� #$℄&

m∗

(
d2xi

ds2
+ Γi

jk

dxj

ds

dxk

ds

)
= ∂km∗P ik + eF i

k

dxk

ds
, ����$�


�� Fik ' ����	� (��������) �&
P ik = Pki = gik − uiuk ����*�

' ����	� 	��	
	���+�	
	 ��	�����	����� �� ����������� u) ���	
 ��	&

P ikuk ≡ 0; P ikgik ≡ 3. ������

�� ,��� �		��	-���
 � ��������
  �
����� ����$� �������� ���	
	� ��������� 	��	
	���+�	���
����	�	� ��	�	��� � ���	�����&

giku
i du

k

ds
≡ 0. ������

�� ��������	��
 ����
��
�������
 ���
��
 ��
	�
�	�

���� �����
������ delta � �����
� � ������� �����������	

.�� ��	���	��� �����	� ����"������� �������) 	����������� �� �	������ 	/0����� ������1���)
�� ���������	� "�	
		/�����2 .�� � ���
�� � �	�	/��� ������� ���	
 �����	� 	��3����������
� �	"	3+� δ 4 ����1��� 5����" ������������ 	�
���
�
����
�� ������� 
�������� �����"�)
�	��	�3�
 �� NA �	����������� �����1 ��"�) �����"��) #�℄) #6℄� &

N
A

(η) =

NA∑

α=1

∫
δ[η;

(α)
η

(A)
(sα)]dsα , �6���


�� ����
���	����� ��	�	����� �	 ���
 ���	�	
 ������	��� ����	
 α 4 �	
 �����1�� 5	 ��/������
������1� � �������"� � ���+��
-�" �	
	�	��"�� 	/ 	/	��������� �����1� 7�	���	�+��� �����1�

� ���+��
-�" /���" 	/	������+&
(α)
a
(A)
) 
�� α = 1, N 4 �	"�� �����1�) A = 1, n 4 ������ �	��� �����1�

�/��
��������
 �������� .	
�� ������������ �	�������� ����1��) ������ �	��� 	���������) �
�"���	) �����"��) a

(1)
��-����& e �,�����	��8 a

(2)
��-����& p ���	�	�� � ����� 9	
�� ����"�������

����"����� �����1� /���" ���������+ � ����&

(α)
η

(A)
J = {(α)x

(A)

i,
(α)

P
(A)

i} �6���

5	 ��/������ ���-�	" 
�	"	����� "�	
	��������� ������� ���	�	��� ������� � ���+��
-�"
/���" 	������+� :���� � �6��� δ[η; ηα(sα)] 4 ��""�������� ������������ $4"� "����� δ 4 ����1��)
	����������� �� ���	�	" ��	��������� Γα � ��	"	���	" �"� Γ) ��� ��	&

∫

Γα

ψ(ηα)δ[η; ηα]dΓα = ψ(η) ;

∫

Γ

ψ(η)δ[η; ηα]dΓ = ψ(ηα) . �6�6�

9�� ��� ���	�	� ��	��������	 �������� �����	����") �	 � $4"����� δ 4 ����1�� ����������� ��
��	��������� ���� �������"����� δ 4 ����1�
&

δ[η; ηα] = D(x;xα)δ(4)(P− Pα) , �6�;�



�����������	
� ���

�	
 � ���
��
����� ���	��� �������	��� ��

��� ���� ∫

P(X)

ψ(x,P)δ(4)(P− Pα)dP = ψ(x,Pα) , 	
���


�� ������� Pα ������ ��� �������� � ����� x ∈ X � ������

∫

X

F (x)D(x;xα)dX = F (xα) . 	
���

������������ ����� �������� � �� ������ δ  ����"�� ��#�������� �� ����$���% � ����� 
��&�#����� ��&�#�
� ����������#��

���� �����	��
��� ��
���� ���
���
�

������#������  ��#��������� ( ������ δ  ����"�� � ���������	
 ����
����	
 ���
���


���
��	) ��������%*�� ���������������% ��&�#�% ��������� 	
����

∆α(η̃, η̃α) =

+∞∫

−∞

δ[η, ηα(sα)]dsα 	
�(�

� ��&+#����� ��������� ��������) �+�� #���#+� ##����� # ������#������% ���������� ,� -��� 
����#������

.���) ����� ����� ������$�����

N
A

(η) =

NA∑

α=1

∆α(η̃, η̃α) . 	
���

/#���� # X4 ���� ����%������0) ����"����#���+1 � �������+� #������������+� #�������
ui(x)�

(u, u) = 1 , 	
�2�

�� ����� �����+1 ����� ����&#����� �&�������� ��� ���1����&�"�� ����# ����%������0 ����1� 
���� 
����&������� ���� ui(x)�

Dui

dτ
= 0 , 	
��3�


�� τ  ���1����&�#����� �����#����� #���� ����%������0) � ����#+� ������ �����+1 ����������
#�������� ���� ui(x)� �������#��1����� τ = Const) ����
�������� ���% ����%������0 ui(x)�

uidx
i = 0 , 	
����

�#������ ����������#�����������0� / ������0$�� ����� ���&������ 5�� 
������#��1����� ���#� 
��� V 6 #������+0 5������ �� ���*��� ��#���

dΣi = uidV , 	
��7�


�� dV ��#�������+0 5������ ��8��� �� V �

dV =
√
−g̃ dx̃1 ∧ dx̃2 ∧ dx̃3 , 	
��
�

� x̃α (α = 1, 3)  #��������� ���������+ 
������#��1����� V �
/+������ ����
��� �� 
������#��1����� V �� �����0��0 ����"�� 	
�(�� 9������ �������) ���

dX = dV dτ , 	
��:�

��� ���� ���� ���	�
� � ��
��� ���� �����
������ ��℄� 
� ������ 
� ���� ��
��� �� ������
����� ������

���� 
� � ����!� ���� ��!����� �����
����� � ����� 
� "���!
� ������ ���
#��� ��� ��
��� ������
����� ���
� 
� 
��� �"�
������
��



�� ����� ����	
��

��� ����� τ 	
�	��
	 ��
��������� � 
��������� ���� ui(x)� ������� 
 ������ 
�
���� ��
����

�������	 ������	 ��� ! ��������� 
��"

∆(η̃, η̃α) =
1(

u, pα(s
∗

α)
)δ(3)(x̃; x̃α)δ

(4) (P− Pα(s
∗

α)) , ���#�!

��� x̃ $ 
��������� ���������� �������
��%��
�� V : τ = Const& � s∗α(τ) $ ������ 
�'
�
������

������ ��
����& 
���
��
�
��(��� ����
������ �� �������
��%��
�� τ = Const� )���� �'��*��&

 �������� �����"

x̃α = x̃α(τ) ; P̃α = P̃α(τ) , ���#+!

��� ���������� η̃α(τ) 	
�	��
	 ��,���	�� ��������
��% ���
����� �
�-���	 ���#! 
 ��
�����$
(�� �
��������� ��������
���� ���������" sα = s ∗α (τ)� .����� 
������ τ �������	��
	 �*
��,���	 ����������������� ���
����	 ���#/!�

0��
�
�������& *������& ��� ��������
��� ���
����	 �
�-���	 ��
��� ���#! ��
�� �
�������	
��������
���� ��������� s ��-�� ����
��
��� 
 
��� ���
����� %��������
���"

dx1

p1
= · · · = dx4

p4
=

dP1

−
∼

∇1 H
= · · · = dP4

−
∼

∇4 H
(= ds) , ���# !

���"

pi = m∗

∂H
∂Pi

.

1�
���� ���
����� �
�-���	 ���# ! ����
����  ��*�
�
���% ���������
"

Fr(x,P) = Cr ; (r = 0, 6) , ���#2!

����� �* ������%& C0& 

���� 	
�	��
	 �������� ��

�� ��� ���
���
����� ��

� ����	 ��
���&
m0& 
�
���� ���
����� ���# ! �������	�� 
 ��*�
�� ���
����
�
� Γ +$�����������
��� 
����
�
�
��*�
�% ����������� ��*��,�	 ��� ���
����	& 
 
�
���� ���������& 
 ������� x4 = τ & ����
�$
������ 
������ ��'��������� τ & �� ������� �i = 1, 3!"

xi = xi(τ)
def
= x̃i

Pi = Pi(τ)
def
= P̃i

H = 0 → P̃4





= η̃(τ) . ���#4!

5��������	 *���� ��'�� 

	*� 
 
�
���� ���# !& �� ������ s∗(τ)� 5����� 
 ���� 
��
�� � ����
�������� 
�����,���� ���#�!& � ���-� � ����������� ��� ��-�
�����(���

�� ��������	�
� �
����� ��	������� � �� �����	��

5�
��������� 
����������� �
�%�������� δ$�������� 0�����& ������������ �� n$������ ����$
��
�� ������'��*�� R& ��*�
�� ������� D(x1|x2)& �'�����(��� 
�����(��� 

��
�
���"

∫

X2

D(x1|x2)F (x2)dX2 =

{
F (x1); x1 ∈ X2,
0; x2 �∈ X2,

�6�#!

�X2 ⊂ R)7 F (x) $ ����*
������ ���*����� ����& dX =
√
−g(x)dx1 . . . dxn $ ��
��������� �������

�'8��� R!�

D(x1|x2) = D(x2|x1); �6��!

D(x′

1|x′

2) = D(x1|x2), �6��!

�
�� xi′ = ϕi(x1, . . . , xn)$ ��
���-������ ����'��*�
���� ���������

J = Det

∣∣∣∣∣

∣∣∣∣∣
∂xi

′

∂xk

∣∣∣∣∣

∣∣∣∣∣ �= 0. �6�6!
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 	�������� ���
��	
� ∆(x1|x2)�
��
���� ������ 
 �������
 δ� �����
��  
����� �

∆(x1|x2) =
1√

−g(x2)
D(x1|x2) !"#�$

	 ������� ������������
�%
∆(x′

1|x′

2) = |J−1(x2)|∆(x1|x2). !"#&$

��		��
�
� �������
� �
��

∫

R

F (x)D[ψ(x)|0]dx ≡
∫

R

F (x)∆[ψ(x)|0]dnx, !"#($

)�� ψa(x)� ����������� �����

 x� ��
���

J(ψ) = Det

∣∣∣∣

∣∣∣∣
∂xk

∂ψa

∣∣∣∣

∣∣∣∣ �= 0.

*�	������ �	���
� ��������
 ��� �����
� ψa � ����	
�� ����+ �����
��
 
 �����������
� 
�
��
)��� � �
�� ∫

ψ

F [x(ψ)]∆(ψ|0)dx|J(ψ)|dnψ


� 	�)��	�� !"#,$� �����

� �������

∫

R

F (x)D(ψ(x)|0)dx =
∑

a

|J [ψ(xa)] |F (xa), !"#-$

��
���� ����� ���
	�
� � �
�� 	
����
��	��)� ����
��

D(ψ(x) | 0) =
∑

a

|J [ψ(xa)]| D(x |xa), !"#.$

)�� xa� ����
 �������
� ψ(x) = 0/

J [ψ(xa)] = Det−1

∣∣∣∣
∣∣∣∣
∂ψ6

∂xia

∣∣∣∣
∣∣∣∣ .

0������ !"#.$ �����
	� ����1��
�� +���2� 
���	
��)� 	���	
�� ���������� δ� �����

  
����%

δ[ϕ(x)] =
∑

a

|ϕ′(xa)|−1
δ(x− xa). !"#,3$

4	�
 � ����
���� 	
	
��� �����
��
 R ����	
��
�� � �
�� �����)� ���
������
� 
��+������
��
��
������ )
��������+��	

 Vk 
 ���������� � ��� � ������ 
���� ���)��5��

 �����
��
��+
�
�
� xk� 
� � 5
�� 	
	
��� �����
��
 δ� �����
�  
���� ����� ����	
��

� � �
�� ���
������
�

����
��
��� �� )
��������+��	

 Vk 
��+������ δ� �����

 D(x̃1 | x̃2) 
 ���������� δ� �����


δ(x

k
1| x

k
2)

D(x1 |x2) = D(x̃1| x̃2)δ(x
k
1| x

k
2) !"#,,$

)�� x̃ � �����
��
� �� Vk# 6 5
�� 	
	
��� �����
��
 5�����
 ��7��� R 
���� ����	
�����
	� �
�
�� ���
������
� dX = dVkdxk� )�� dVk =

√
−g(x)dn−1x̃ � 5�����
 ���1��
 )
��������+��	

 Vk#

6 �������2�� �� ��	
� ����� ���
����
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���� ������
� � 	
�+������ 	
	
��� �
��
�� ��)��
���������� ���
�� ki ������
�������# 8�
�
�� R � 5
�� 	
	
��� �
	��
� 
���
 �
�

ds2 = dτ2 + gαβdx
αdxβ , (α, β = 1, 2, 3). !"#,9$
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� �����
	� ���	
���	
�������������� 5�����
 ���1��

�� ����� ��������
� ��	���	
��� dV #
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∂F (x1)

∂xi
1

=

∫

R

F (x2)
∂D(x1 |x2)

∂xi
1

dX2.

 �	���! ���	���� �� ��	���"��
#

∂F (x1)

∂xi
1

=

∫

R

∂F (x2)

∂xi
2

D(x1 |x2)dX2.

 	�
�

�� ��
 
�	�$��
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"� �
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	�
��
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�
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�����! δ �
�����
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	���

∂

∂xi
1

D(x1 |x2) = D(x1 |x2)
∂

∂xi
2

. ����'�

(�
��	

 ���"��
%��� 
��"���
 �"� �����	���� �)*���� F (x)� ��"�%
� )�"�� �)+�� �	�

"�
�
���	���
	�
��
�

1

∇i D(x1 |x2) = D(x1 |x2)
2

∇i, ������

���
a

∇i � ���	���	 ��
�	
������� �
���	���
	�
��
� 
 ��%�� xa.

�� �������	� ����
�� ��������� ������������ �����
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 ������� ��������� �������

������	
%���
� �)	���� %���
�� �
"����� 
	����
����)��� �
	�
�� "
�
� xi = xi(sa) ≡ xi
a�


��"- ����	�! ����� ������	�! ������	
%���
! �)*��� ωa(xa) ≡ ωa(sa)� .�	����	
��#+
! ��
�
�
%���
� �
�!��
�� /���� ����
��- ���� �)*��� 
���%�
���� 0"���
%����! ��%�%��! %���
��
�����
"�� 
 ����
����

� "
�- ��
� �����	��! �)*���
� 
����	 ���	���
 ui

a = dxi
a/dsa 
 �������

	�� ���"�	��� 1��	���2� (	
 �%��� "
�- �"���	�����
���. 
 �	�

���
����. 
��
����!��

!
��	��� ��������� −ma �������� ea ��"���	
%���
! ��	���� 3��
� �)	����� 
���%�
� �"���
%��
���! %���
�� ��$�� 
���- "
�- ��	����	� 

�� ωa(sa) = {1, ea,ma}× ui1

a . . . uin
a � 4�	���"
� ��"�

�"������
 
���%�
��

Ωa(x) =

∫

����� ���	


���

����

ωa(sa)D(x |xa)dsa. �����

5�"����

� ��	���"��
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�
�	
�����! δ� �����
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��
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 ����� ��	����
� �����	���
�
�!��
� �)*���� ωa � �	�����	

 %���
�� �� 
�� ������)	��
� R� ����
�� �����	��� ��"� Ωa(x)�
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� �"������
 
���%�
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� 
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� �	����! �
�
%���
!
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ni(x) =
∑

ni
a(x) =

∑

a

∫
ui
a(sa)D(x |xa)dsa ���7�

8 
����	 �"������
 %
�"� %���
� �%
�"�
�! 
����	��

ji(x) =
∑

eacn
i
a(x) =

∑

a

eac

∫
ui
a(sa)D(x |xa)dsa ���'�

8 
����	 �"������
 �����

T ik
p (x) =

∑
T ik
a (x) =

∑

a

mac
2

∫
ui
a(sa)u

k
a(sa)D(x |xa)dsa �����
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∇in
i
a(x) =

∫

S

ui
a(sa)

∂D(x |xa)

∂xi
dsa.

�
�������� �����
�� � ��
� ��
������ 	�	 	
��
�������� �����
�� ���
 ����� �� ��� ��
�!
���� �
��	�

�� �������"

∇in
i
a(x) =

∫

S

∂D(x |xa)

∂xi
dxi

a.

#���� ����
�����	
� �
����
 $%�&'(� �
�����
 	
�


�) 
��
��

 �
���� ������
���! � ��*��
��)��� �� ������)� +�	�� 
,
��
�� ������ ����� ����
 �

��
*����

∇in
i
a(x) =

∫

S

ui
a(sa)

∂D(x |xa)

∂xi
dsa = 0. $���(

-�
 �

��
*���� ����� ��� ��	
�� �
�
����� � )������������ 
�������� ��	� �)/����
���� 
������� �� �� �� �
,������
� �
��	�

��� ���������� $���( ���
�� 0�� ��	
�� �
�
����� "

∇in
i(x) = 0; $��1(

∇ij
i(x) = 0. $��2(

3� �� ����� �������	
�
 ������ ���� ��	
�
� ������  ��
� ��
������ $��&( � ����

��
�
������� 
������� � 	
�


�� �
�����
 $%�&&(� 	


������ x̃ ������ �� �
����
�
� �

��
��������
�
�
�
,�
� V � ���������� �
������
�
,�
��� ��	�

� �	


��� ui

a" dτa/dsa �= 0� �
��
�) 
� �����
��


���� �
 �
,������
�) �
����� sa � $��&( �
��
 ��
���� 	 �����
�

����0 �
 	


������
�)
τa� +�	�� 
,
��
�� �
��� �����
�

���� �
�)���

Ωa(x) = ωa(τ)
D[x̃ | x̃a(τ)]

u4
a(τ)

, $��4(

��� x̃a(τ) 
�������� ��
 	


������ ���� ������ �� �� � �
���� τ 	


������
�
 �
������ �

��
�
*���� $��4( �
��� ,��! �������
 � � ����

�
� �

��� 5��
���� ��� R ��������� �
������
�
�
,��� ��	�

��� �
��� ��,�0����� 

(k, k) = 1 $��6(

� ,)��� ����
 �! ��� �
,��� �
 ����� ��,�0�������� ���
���

������ � �
��� R� �

���)�
	
�
������ ����
����� �
 ����� ��
�
 ��,�0����� � ��
,�
����� �� ,��	
����
�
 ���
�
 ��
��
��/��� ������� ��
�! �� �
,������
� �
��	�

��� ���! dτ = ki(xa)dx

i
a = ki(xa)u

i
a(sa)dsa� +�	��


,
��
�� ����) ����
������ dτ � dsa ������ ����)0/� �� �!"

dsa =
dτ

(k, ua)
. $��&7(

�
� 	���
� τ = onst �
��

�� �

��
��������
�
�
,�)0 ����
�
��
��
��! V � 

�
�
���!�)0
�
�0 ki� #
������� ��
� ����
�
��
��
���� 	�	 �������
� ���!

ki(x)dx
i = 0.

� 
��)�!���� �����
 $��4( �����

Ωa(x) = ωa(τ)
D[x̃ | x̃a(τ)]

(k, ua)τa=τ

. $��&&(
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������	
����	� �	
	�� ����� 
� 
�
	�
��	������� V � �������� ������ � � �	�������	 
������

∫

V

∂

∂xi

{∑√
−g(x̃)

ui
a(τ)

u4
a(τ)

D[x̃ | x̃a(τ)]

}
d3x̃ = 0.

���
��	� 
� ��!�� "�� ����#	��	� ������  ���	�	�%�������	 
� τ = x4 �� ���& ���	
���������
� ��� � �	&��� 3� �&������ �����%� �� 
�
	�
��	������� V ' vαa (τ)/dτ

∂

∂τ

∑

a

∫

V

D(x̃ | x̃a(τ))dV +

∫

V

∂

∂x̃α

{
√
−g̃

∑

a

vαa (τ)D(x̃ | x̃a(τ))

}
d3x̃ = 0.

����	��� &� ������� ���	
���� ������� ������� 
	�	�� � & ���	
��������) 
� ���&����*  ���
�	���* 
��	������� Σ� �
��������)+	* �!����� V '

∂

∂τ

∑

a

∫

V

D(x̃ | x̃a(τ))dV = −
∫∫

Σ

∑

a

vαa (τ)D(x̃ | x̃a(τ))dΣα. ���,-�

.��	 ����	 �
�	 	�	��� δ�������� �	
�� ��
����� � ����� ���
� ��
��� ����� ����� ���
��� �����
������� � 
��������� � ���
� V � �����
 ������� τ

∑

a

∫

V

D[x̃ | x̃a(τ)]dV = N(τ). ��
�!�
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����� � #����� ���
� ��
��� ����� #�
��� ����� ���
��� #�������$��� %�����
�$ ��������$
#��������
&

∑
� ����������$��$ 
��������$ � ���
& V 
 '���� � ��%��� ��
��� �
���(���
� �
�

�%������� ����� ���
�� � � ���
� V �)%���� ��*& ������ ���
�� �% +
�� � ���
� ��� #�������
���
�� � ��� � ���
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��
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∇kT
ik
p (x) =

∑

a

mac
2

∫
uk
a

a

∇k ui
aD[x |xa(sa)]dsa. ��
�	�

�� �������	
 ��

 � �	���

����	 	�����	���	

/�������� #��� ��� ���
��) ���
��� �%��������
��$��� #������
��� �������)� ����������
(Φ)� ���
������ (Ai) � �����
��������� #����� � #����&$ #��
���
�� ��
������� ����
  )
&
%�#����) � �����$��� ����

Rik − 1

2
Rgik = κT ik = κ(T ik

p + T ik
s + T ik

v ), �,
��

F ik
,k − µ2

vA
i = −4π

∑
ea

∫
ui
aD(x |xa)dsa, �,
��

∗

F
ik

,k= O, �,
!�

�Φ + µ2
sΦ = −4π

∑
qa

∫
D(x |xa)dsa, �,
	�

���

T ik
p =

∑
mac

2

(
1 +

qaΦ

mac2

)∫
ui
au

k
aD(x |xa)dsa �,
��

0 
��%�� +���������#��&�� ���
���
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��
����� ���	��� �������	��� ��

T ik
s =

1

4π

{
Φ ,iΦ,k +

1

2
gik(µ2

sΦ
2 − Φ,jΦ

,j)

}
�����

� �	
��
 �
	
������������ ������
��� �����

��� �����

T ik
v =

1

4π

{
F ijF k

j . +
µ2
s

2
AiAk − 1

4
(F jlFjl + 2µ2

vA
jAj)g

ik

}
�����

� �	
��
 ��������� ������
��� �	���

��� ����� ea� qa� �	���
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�� ��
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µv = mvc/�� µs = msc/�" mv� ms � ����� �	���
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 ∇k � � �	� ��)�	����
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0 =

N∑

a=1

{
mac

2

(
1 +

qaΦ

mac2

)
∇k

∫
ui
au

k
aD(x |xa)dsa+

+qaΦ,k

∫
ui
au

k
aD(x |xa)dsa

}
+

1

4π

{
F i

.k(F
kj
.j − µ2

vA
k) +AiAk

,kµ
2
v

}
+

1

4π

{
Φ,i(�Φ+ µ2

sΦ)
}
. ���'�
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���
��∇i 
� �#	  ���� �
��
	
�� ���-�� .��	�����	 ��������	�
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���� �	
��
�
F ik ���� ��

µ2
vA

k
,k = 4π

∑
ea∇k

∫
uk
aD(x |xa)dsa,

� � � 	��� ����� ��		� ����#
���� /�
	
!� �
� µv �≡ 0.

Ak
,k = 0. ���-�

0�������� ���� ����� � ���)	 �
��
	
�� ���� ���-� � ���(� � ����
�1	
�	 ���'(�� �
��	�	� ���'� �
����

0 =

N∑

a=1

{
mac

2

(
1 +

qaΦ

mac2

)∫
uk
a

a

∇k ui
aD(x |xa)dsa−

−eaF
i
.k

∫
uk
aD(x |xa)dsa − qa∇kΦ

[
gik

∫
D(x |xa)dsa − −

∫
ui
au

k
aD(x |xa)

]}
.
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��� x4 � �
��
�	�
�
�	� ����	�
		 ���

�)	
�	 �� �
	2�	

�� �
���
�
���	

�����#
�� ���	
���	
2
���� Vb (dVb =

√−g d 3x̃b)� .��	��
����	 ��
	�	�	
�� �
��
��
�
�� δ� ��
�!�� �(�'� ���� �� �
��
	
�� ���)	
��&

Dpia
dsa

=
1

1 + qaΦ
mac2

{ea
c
F i
.ku

k
a +

qa
c
∇kΦ(g

ik − ui
au

k
a)
}
, ���3�

��	 pia = macu
i
a � �������  ����!�� .�)
� ���	�����  �� ���� Φ � Ai �� ����4��� � �� �	 
��

2�)�	
��  ����!�� ��	� Ai = Ai(xa)� Φ = Φ(xa)" � ���� )	 �� �	 �� ����	��� � ��	
���

a

∇i� �����
���	��2 ���
��
�� � �� �� xa �
���2���� ���	�����	 �
�	�
�
���
�� δ� ��
�!�� �� �
���
�
�
���	

�����#
�� ���	
���	
2
�����

���������� �	
 ���	
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�
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 � ΦR/6 � �
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�
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 � �	
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�
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� ���� ! ��� ��� �	�� ΦR/6 �
�����������
 �
"��
����� �	����� � T ik

p �



�� ����� ����	
��

�� �������	
	���� ���

���
 � �	�	��	 ��
��	��� ����

���� ������ �	
�

������	 
���
� ������ � ��������	� �������	� ��� ���
�	� ����� � ������ �����	 !�! 	�
"
� ������ � �
�����#�	 
������ ��������� �
�	����������� ���� $���������!�% ����&��
���'
ki(x) �� ����	 !�
�
�% ����	 ��!��
���
� ����
��� )��

��	 �
��

���
������������& $���
�
����
%���
� V  �

�$�������& ki� *� "
�' +�	�
��' ����
%���
� � 	�	��
 �
�	��� τ0 ������	
!�	�����
� ��
��,����� Φ(x̃, τ0) ≡ Φ0(x̃) Ai(x̃, τ0) ≡ A0

i (x̃)- gαβ(x̃, τ0) ≡ g0αβ(x̃) � �% �
��������%
�� �
�	���.

(∂τΦ)τ=τ0 ≡ Φ̇0(x̃), (∂τAi)τ=τ0 ≡ Ȧ0
i (x̃),

(∂τgαβ)τ=τ0 ≡ ġ0αβ(x̃),

� 
�!/� !��
����
� � �	������ ���% ���
�,. xa(τ0) ≡ x0
a ua(τ0) ≡ u0

a� ��1���� ������ � �������
��	� �������	� ��� ���
�	� ����� � ����� �	��
 ���

ψ(x) = ψ(τ, x̃ | x̃0
1, ũ

0
1, . . . , x̃

0
N ,Φ0, Φ̇0 . . .), �����

$�� ψ(x) � ��!�
�
�� ������� ���!,�� ������#�� �
 �������
0
gik, x̃

0
a,Φ0, . . . !�! �
 ��
�	�

���

2�!�	 ��
���	 ������� �������� (gik, Ai,Φ) 	�/�� 
���	�

���
� !�! ���!,������ ����

ψ(x) = ψ(τ, x̃ | x̃1, ũ1, . . . , x̃N , τ0). ���3�

4
� ������ ����%���	� ����	�
� �����&#�	 ��
���	. ������� �������� �������&
�� � 
��!�
x̃ � 	�	��
 τ0 ���� !��
����
� � �!�
��
� ���
�, �� $���
����
%���
� V � 	�	��
 τ0 ����
��
������� ��������	� x̃a, ũa�

���� 
�	�	��������� ��������� �	��
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�����
� ���
��
 � 
�	 �
�
���/���� !�/��' ���
�,� ��������
�� � ��	�#�& ����
���
��$� ����
�����$� �
�	��� sa �
� �
�������% ���� ����� "
� �
�	� ���/�� ��
� ������� � ��!�
�
�	 !��
����
��	 τ � 
���
!� � !�
�
�' ��������
�� ����� �*���	��	 �
� � ���3� �������� x̃a, ũa ���
� � ���� � 
�

/� 	�	��
 !��
����
��$� �
�	��� � $���������!�' ���
�	� !��
����
�� 4
� 

�����
� ����!� 
	�/�� ���'
� ����� �	��
� ������% ����&���	�% ������� 	��$��
�	����� ������� ��������
∨

ψN (x |x1(s1), . . . , xN (sN ), uN (sN )) ��������� � ����&���	�	� ψ � ��	�#�& �
�����

ψ(x | x̃1, ũ1, . . . , x̃N , ũN) =

= Sk
N (s1, . . . , sN)

∨

ψN (x |x1(s1), . . . , uN (sN )), ���+�

$�� Sk
N � ���
�
�
 ���%
�����,�� ��
������	�' ���
��1����	.

Sk
N(s1, . . . , sN )

∨

ψN (x |x1(s1), . . . , uN (sN )) = �����

=

∫ N∏

a=1

δ(sa − sk)dsadsk
∨

ψN (x |x1(s1), . . . , uN (sN )).

2�!�	 ��
���	 
ψ(x, τ |x1(τ̃ ), . . . , uN (τ̃ )) =

=

∫
dsk

∨

ψN (x |x1(sk), . . . , uN(sN )). �����

6�
�$
�
������ � ����� � ����� �
�����
�� �� ���' 

��!
�
�� ���
�, � ����&��
���� 7���� 	�/��
����
�����	 �
�	���	 ����&��
��� sk � !��
����
��	 �
�	���	 τ ���#��
����
�� � ��	�#�&
���
��1����


dsk = kidx
i. �����

������� k ��	
 ��
����� ����������� ��������



�����������	
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�	
 � ���
��
����� ���	��� �������	��� ��

�� ����	 
��
���� ��� �������� 
������������ ����������� 
 ����� ����������� 
��
� ��!��
���"�� �� ����
����� x ����� #��������$% ���$&

[kx, S
k
N ] = 0. ���'	

(�� ����$ 
�$ ���)� �������� ����� ����*��   �
�

∨

R ik − 1

2

∨

R
∨

gik= κ
∨

T ik, ����	

∨

F
ik
,k − µ2

v

∨

A
i = −4π

∑
eau

i
a(sa)D[x |xa(sa)], ����	

F

∨∗ ik
,k = 0, ���+,	

�

∨

Φ+µ2
s

∨

Φ= −4π
∑

qaD[x |xa(sa)], ���++	

)
� ���)� �������� ������ -���)��.�����"
� ����� 
�����
$ �� ��� ���� �/�/	� �/�'	� �� ����
�.
���"�� ���)� �������� ������

∨

T
ik
p =

∑
mac

2
(
1 +

qa
∨

Φ

mac2

)
ui
a(sa)u

k
a(sa) D[x |xa(sa)]. ���+0	

1
��

� �� ���'	 � ����	 ���������� ��������� Sk
N � ����� ��
�$� ����	 . ���++	 ��� �
�� ��
 �

�
��
��� ���� �� ��� ����$� �/�+	 . �/��	� �� ����
�����$ ���)� �������� ���� �� �������
 �
��� ��� ��� 
��3�� ����" δ . �������� ���������

���� �����	
��
 �
�������
����� ��� ���������
� �������
� �����

4�$ ��)�� ����� 
��
�  
�)� 
�������)� 
��� ����������� ��

������ ������ ��*���$ ��.
�� �� ��� ����� 
�$ �����

� �)� ��������)� ���$ ψi1...in(x)  ���
��� ���
����
� �. �������
5��� ��
� ��!�� ���)� �������� ��� ����$ ���$ �����  �


�

∨

ψ i1...in = 4π
∑

qau
i1
a . . . uin

a D(x |xa). ���+6	

4�$ ��*���$ ��
��� 
 �����"���� �
�� �$�� ��
��
� ��� �� ��� ��
�� ���+6	 ���������� 7��"�

+∞∫

0

dx4

+∞∫

−∞

d3xei(k,x), ���+�	

 �����"���� ������� ��*����

∨

ψ i1...in
N (k | s1, . . . , sN ) = − 4π

(k, k)

∑

+

qau
i1
a . . . uin

a eikjx
j
a(sa) ���+�	

��
��
 #8% � �����
∑

��������� ��� ��������
$ ��*" x4
a ≥ 0 � 
��

� �� ���+�		� 5� ��*�$

�������� 7��"�.��������� ����� ��
�� 
���
������  ���
����� ���
��

∨

ψ i1...in
N (x | s1, . . . , sN ) = 2

∑

+

qau
i1
a . . . uin

a δ[(Ra, Ra)], ���+/	

)
�
Ri

a = xi
a(sa)− xi. ���+'	

1���
��� �����" �����
����� ���� ψi1...in(x) 
 ����!"� 
�����*���$ ���+�	&

ψi1...in(x | x̃1, . . . , x̃N ) = 2
∑

+

qa

∫
dsku

i1
a (sk) . . . u

in
a (sk)δ[(Ra, Ra)], ���+�	

)
� �����" �3� xi
a = xi

a(sk)� 4�$  �$��$ -��)� ����)���� ������
��� ������� �� ����)���� ���$
�� ���������� sk � ����)���� ���� �� ���������� za = (Ra, Ra)� 4�����������$� ���
�� 
 $�"

dza
dsa

= 2(ua, Ra).



�� ����� ����	
��

����� �	
����� �� 
����� �������

ψi1...in(x | x̃1, . . . , x̃N ) =
∑

+

qa
ui1
a . . . uin

a

(ua, Ra)
| za = 0. 
�����

�
������� za = 0 ����� ��� ��
��

ta − t = ±R(ta)/c, 
�����

��� R(ta) = |�ra(t) − �r|�  �� ��
�� !������!���"� ������#��"$�� � ���
�%�"$�� 
�&������
'�!���(�� �# 
�&��� ������ ! �����(�#�� �!�������� �!���� t > 0� ��)���� �� 
����� ��	�
���!�
*������#��"$�+ ��
��(,

ta +R(ta)/c = t, ta ≥ 0. 
�����

-�����&���� 
����� ���	.����� 
�!!���
����( ��� �
������� ��� ��
�������� ta(t, �r)� ����
��
����� ���	.����� ���!�����( � 
������ '
� n = 1� N = 1 
����� ���!#���� ����!��#� �����/���#
0����
�12�.�
��� �
� n = 2� �!
����� 
�!�
�������� *�
����,� ������� 
�&���� �����
���
�1
����#. �
������+  +�&��+�� ! �!���������

3�� ����� ���	# �
������!�
�
����( ��� ��%�� ���(�����(!� �����!�� k � ���
���
� skN �

�!!���
�� 
����� � !����� n = 1� N = 1� ����� �
�����
�� �����
 k ����( 4 1 !��
�!�� ��!��/#
ui
a = δi4� dsk = dx4

a(sk)� !
��� ������� �� 
����� ����� 4�����5 ψ
i = qδi4/r�

6# �%� ��������� ��� ������
�����#� �����#� ����/�� ���"� δ1�	
���#+ .�
����
� 2 ���!1
��� �
�!�
��!��� ��� 	����!!��#. ����+ )�� ����/�� 
���# ���" �!"��� �
��� ����
������
����!�� !������"$��� ���
�����# ��%��+ ��!��/# � ����� ����
���� ����� 8!�� ���� ������!�
��!!���#�� �� )�� ����/�� ������# �� ���� �� ������
#. ����
	�����!��. ����
.��!��.� ��%�1
$�. ����
� !�������� ����!�� ������! ���� ������� )��. ����!�� 
���� ����&���" v(x, t)/c� ��� v
1 !��
�!�( 
�!�
�!�
������ �����  �� ����� �� �
���
� 
�&���� ������
�����#. �
������+ ���
��!!������ ���� � ���!��� �
�!�
��!���1�
������
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